29 A4 27 g
(201613 74 27 11:00-13:00)

2o|RA S AA L. (FH 2003
A4 1. [303] ot 9] o] F A Z-& ALt 2.

@ (15%) / / e dudy

Vi1-z2 5
(®) (1514)/ / (2 +y° +1)" 2 dyda
EAVEI

BA 2. 1208 AAY AEFRE) T GG D
AE RS ARG 2.

BEEAC 2R AR E

= {(z,y,2

JIVE T2 < 2 < 2} oA BolH ofefol

/// V2 + y? dedydz
D

B4 3. 2081 & G(u,v) = (u? — 02, 2uv) oF HH O] g g

2 2
W = {(z,y)] —1+%<x<1_~i
gote.

(@) 108) G : U —» W7} AdF7t9A o] HlE & st W
(b) (103) A&A 2=

off tste] o= &5l

o AP U B FeN L.
A T2 o] gsto] obell A2-g u,v Mol thet A2 o2 EASHY T AEghe ANt
SHA| 2

4 4. [204] JJrJ* e 99 D = {(xy)]1 < o +y* < 42 > 0,y > 0} o diste], He
F(z,y) = (2 + 2y — arctany, —22°y + e ) 7} 0D E WA = oF(flux)S AAFSHA] &

A 5. [204] Aol A (-2,0) oA 2F& w2t A (2,0) 7hA] gH|aL ¥l y = V4 —2® 5wt
J g0z Eolert of o), o] THG G2 el F(z,y) = (v,2° + 3uy°) o A& F3HA 2.

BAl6 208 ZHCHH L+’ =1 F Az +y =10

o1FE Y F IARH G
AAL 0 g TN L. (&, C o FL

AART o = ol 2t

/ (arctanz — y°) dz + (z° + siny) dy
c

o]

BA7. 20981 FH S 7} B

9l Fiolt}. o] o] Ui

z =01z =3 Aol =4 QL
=4It f(o,y,2) = 2’y +2 2
LA

L H Y 4+ =15 ALdER

AL EA| Qo]
2 Fold v, Fmo] AFEAT BFULE

=

BA 8. 30815 = {(,9,2) : 2% +y* < 4} o] tf5}e] Tk
@ (157) S © 94 O o4 9] A 7He F5HA] @
®) (15%) 99 R = {(z,y,2

=0l g5t L.

VVaz+92 < 2 < 2,22 + 2 + 22 > 1} o AR S Hgato],
HE Ay, 2) = — b2 ‘:ﬂﬁ{%//A-dSs%E}*]i.(uolfqi%k%léﬁ}%
(@ +y? + 22) s
29/ WHE ne n -k > 022 Fol2ich)

A 9. [208] &4 o(x, y, 2) i=we™Y + ye 7 + ze” "o th5}e], ofefj o] 4

Ll

o) = (%, sin (%) : i) 0<t<1)

1—e
oA eI grad o O AHBL 2EDL HUE o] §oto] FoHA Q.



